Questions 1-10 are based on the following passage.

This pazsage is adapied from James Joyce, “A Little Cloud.” Originally published in 1914,
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Eight years before he had s=en his fiend off at the Morth Wall and
wished him godspeed. Gallaher had got on. You could tell that at once by
his travelled zir, his well-cut tweed suit, and fearless accent. Few fellows
had 1alents ke his snd fewer st7] could remain unspoiled by such success.
Gallaher's heart was in the right place and he had deserved oowin, [Twias
something to hawve a friznd like that

Little Chandier's thoughts swer since lunch-time had teen of his mesting
with Gallaher, of Gallaher's invitation and of the great city of London whers
Gallaher lived. He was called Litle Chandler because, though he was but
slightly under the average stature, he gave ons the ides of being a litle
rman. His hands were white and small, his frame waz fragile, his voice was
quizt and his manners wers refined. He took the greatest care of his fair
silken hair and moustache and used perfume discreetly on his
handkzrchigf. The haf-moons of his nai's were perfect and when he smiled
you caught 3 gimpse of 3 row of childish whits teeth.

As he =at at his desk in the King's Inns he thought what changes those
eight y=ars had brought. The friend whom he had known under 3 shabl
and necessitous guise had become a brilkant figure on the London Press.
He turned often from his tiresome writing to gaze out of the office
window. The glow of 3 late autumn sunsst coversd the grass plots and
walks. It cast a shower of kindly golden dust on the untidy nurses and
decrepit old men who drowsed on the benches; it flickered upon all the
mioving figures—on the children who ran screaming along the gravel paths
and on everyons who passed through the gardens. He wstched the scens
and thought of Ife; and {as slways happensd when he thought of ife) he
became =3d. A gentle melancholy took possession of him. He fit how
useless it was to strugple agsinst fortune, this being the burden of wisdom
which the ag=s had begueathed to him.

He remembered the books of postry upon his shelves st home. He had
bowght them in his bachelor days and many an evening, as he s3tin the
listle reom off the hall, he had been tempted to take one down from the
bookshelf and read cut something to his wife. But shyness had ahways held
him back; and =2 the books had remained on their shelves. At times he
repeated lines to himsaf and this consoled him.

When his hour had struck he stood up and took leave of his desk and of
his fellow-clerks punctiliously. He emerged from under the feudal arch of

the King's Inns, 3 neat modest figure, and wslked swiftly down Henriztia
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Street. The golden sunset was waning and the air had grown sharp. A
harde of grimy children populated the street. They stood or ran in the
roadway or crawled up the steps before the gaping doors or squatted like
mice upon the threshelds. Little Chandler gave them no thought. He picked
his way deftly through all that minute life and under the shadow of the gaunt
spectral mansions in which the old nobility of Dublin had roystersd. Mo
memory of the past touched him, for his mind was full of a present joy.

Hz had never been in Cordess's but he knew the valuz of the name. He
knew that people went thers afier the thestre to 23t oysters; and he had
heard that the waiters there spoke French and German. Walking swiftly by
at might he had seen cabs drawn up before the deor and richly dressed
|adizs, e=zconed by cavalers, alight and enter quickly. They wars noizy
dresses and many wraps. Their faces were powdered and they caught up
their dresses, when they touched sarth. He had always passed without
turning his head to look. It wias his habit to walk swiftty in the strest even by
day and whenever he found himself in the city late at night he humad on his
way apprehensively and excitedly. Sometimes, howsewer, he courted the
causes of hiz fear. He chose the dsrkest and namowest streets and, as he
walked boldly forward, the silence that was spread about his footsteps
troubled him, the wandering. silent figures troubled him; and at times a
sound of low fugitive lsughter made him tremble like 3 leaf.

He turned to the right towards Capel Street. Ignatius Gallaher on the
Lendon Press! Who would hawe thought it possible eight years before? Still,
nows that he reviewsd the past, Litle Shandler could remember many signs

of future greatness in his friend.



- Which choice best summarizes the passage?

View Answer -

A_ Acharacter reunites with an old friend and discovers that they cannot resume
their friendship.

B. An invitation from an old friend prompts a character to reflect on both the past
and the present.

C. Achance meeting with an old friend inspires a character to start a new life in
another country.

D. Acharacter's recent professional success prompts him to provide assistance to
an old friend.

Question Difficulty: Easy

Which choice best describes the state of mind that Gallaher's return
inspires in Little Chandler?

View Answer A

A He s impressed by Gallaher's success even though thinking about it calls to
mind his own unhappiness.

B. He is anxious to downplay Gallaher's achievements in an attempt to make his
own look better.

C. He envies Gallaher's remarkable success and is angry about how Gallaher
achieved it.

D. He admires Gallaher's rise to fame but is thankful that he himself lives a
relatively inconspicuous life.

Question Difficulty: Medium

Which choice best supports the idea that Little Chandler seeks to
rationalize his own passivity?

View Answer ~
A. [error] (“Gallaher's . . . that”)
B. lines 24-30 ("As . . . window")
C. lines 40-42 ("He felt . . . to him")

D. lines 44-45 ("He had . . . wife”)

Question Difficulty: Medium

It can reasonably be inferred from the passage that one of Little
Chandler’s prominent characteristics is that he is

View Answer ~
A, excessively boastful of his personal achievementis.
B. often unpredictable in his dealings with ather people.
. highly critical of other people’s aspirations.

D. somewhat vain about his personal appearance.
Question Difficulty: Easy

The observations in lines 30-40 (“The glow . . . of him™) mainly serve
to

View Answer ~

A. dramatize how the sunset alters the interactions among those in the gardens
who witness it.

B. suggest that the natural beauty of the sunset affects all the people in the
gardens equally.

C. convey the subtle influence that the sunset exerts on Little Chandler's mood.

O suggest that the people in the gardens share Little Chandler’s attitude toward the
sunset.

Question Difficulty: Medium

n As used in line 55, “figure” most nearly refers to the

View Answer ~
A depiction of a person in artwork.
B. social position occupied by a person.
C. image presented by a person’s body.

D. historical importance of a person.

Question Difficulty: Medium



By saying in lines 65-66 that “no memory of the past touched” Little
Chandler, the narrator most likely means that Little Chandler

View Answer A

A doesn't fix his attention on the age and decay of his surroundings during his
walk.

B. can analyze his memories while remaining comparatively unaffected by them.

C. tends to retain few memories of his personal experiences.

D. is unable fo recall key memories of Gallaher,

Question Difficulty: Hard

Based on the passage, which choice best identifies a contradictory
impulse in Little Chandler’s character?

View Answer ~
A. He fixates on a social world that he ultimately believes to be a hollow spectacle.
B. He immerses himself in sights and sounds that strike him as ultimately frivolous.

C. He scorns a historical era that he concedes is preferable in some ways o the
present.

0. He derives excitement from placing himself in settings he finds menacing.

Question Difficulty: Medium

Which choice provides the best evidence for the answer to the
previous guestion?

View Answer ~

A. lines 62-566 (*He picked . . . joy”)

B. lines 71-76 ("Walking . . . earth™)

C. lines 76-81 ("He had . . . excitedly™)

D. lines 81-87 ("Sometimes . . . leaf”)

Question Difficulty: Hard

m The main effect of the last paragraph is to

View Answer ~

A. convey Litlle Chandler's sense that hindsight has lent a degree of inevitability to
Gallaher's success.

B. suggest the extent to which the news of Gallaher's success has altered Little
Chandler's memory of him.

C. demonstrate that Little Chandler's confidence in Gallaher has been vindicated by
Gallaher's success.

D. characterize Little Chandler as regretful that he had failed to foresee Gallaher's
SUCCEess.

Question Difficulty: Hard



Questions 11-20 are based on the following passage and supplementary material.

This passage is adapied from Meeru Paharia, Anat Keinan, and Jill Avery, “The Upside fo Large

Competitors.” £2014 by Massachusetts Institute of Technology.
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Large competiors are often viewed 23 & majer threat for starugs and

small companies; big compsnies hawve mors financisl resources and grester

scale, market powier and brand awareness than smaller ones. However, our

research finds that & smaller brand can actually tenefit if consumers can
see the compestitive threat it faces from a larger onganization.

When 3 U5 -bazad o2 cream chain with sbout 1,400 stores mowved
within 50 steps of 3 J.F. Licks ice cream store in Mewton, Massachuseits,
some people expected that J.P. Licks, a small, locally owned company,
would be beaten cut of the Mewton markst. But consumers rallied arcund
J.P. Licks, and the national chain later closed its nearby lecation. When the
owner of the Los Angeles-based coffee store chain The Cofize Bean & Tes
Leaf could not stop 3 large coffee shop chain from moving in next door, he
WaE surprised o 522 his 53le8 shoot up—so much 50 that he stared
preactively colocating new stores next to large chain ones.

These examples are not anomalies. In six 3k and field studies, we
explored the effiects of having 3 large, dominant competitar and found that
highlighting a large competiter's size and close proximity can help smaller
brands, instead of harming them. Compared o when they are in
competiton with brands that are similar to them i size or when consumers
view them outside of a competitive context, small brands see consumer
suppart go up when they are faced with 3 competitive threat from large
brands. This support transkstes into higher purchase intention, mare
purchases and more faverable online revisws.

Az part of our research, we conducted 2 field study at an independent
bookstore in Cambridge, Massachusstis. Upon entering the bookstors, 163
prospective shoppers were exposed to one of three wersions of an in-stors
ad, emphasizing either the store's large competitors, small competitors or
no competition. Shoppers who read the “large competitors” version were
told that the store's main competitors are large corporations that have the
akility to put small businesses such 33 this bookstore out of business. The
“small competitors” version indicated the stere's main competitors are other
locally owned small bookstores in Cambridge. In the “no competition™
version, participants were given no information about the competitive
enviranment. Shoppers were then given a 35 coupon, coded with the in-
store 2d version they read. Analyzing shoppers' sales receipts and the

number of redeemed coupons, we found that shoppers were significanthy

Likelihood of making a purchase (%)

numb=sr of redeemed coupons, we found that shoppers wers significanthy
rmore likely 1o make 3 purchase after reading the “large compstitors”

version of the in-store ad, compared to the “small competitors” version or
the “no compettion” version. They sl=o purchased mers Hems 3nd spent

4% more money st the store, compared to shoppers reading the “small
competitors” or “no competiion” versions. These results sugpest that
framing the competitive game and empghasizing 3 competitve narrstive
agsinst a larger company can help 3 small estabfshment—and spur
consumers 1o make a purchase that supports the smaller compstinor.

43 In subssguent studies, we tzsted this “framing-the-game” effect in
warious contexis and product estegories and further found that support for a
large brand decresses when consumers wisw it 35 being in competiticn with
a smaller brand. |n gne study, we ssked pariicipanis o 355855 o
hypothetical rival tire shops, "Tire World™ and "Tire Planst.” under three
condiions—small vs. large, small ws. small or large vs. large
competitors. While participants indicated no preference for the small or
largs shop when it was compsting 3gainst 3 compsttor of similar sz, the
small vs. lange competitive context elicited 3 strong preference for the small

rather than large shop.
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Which choice best describes the overall structure of the passage?

View Answer -~

A Apopular belief about a particular industry is explained, experiments supporting that
belief are described, and the implications of the experiments are identified.

B. An unexpected claim about consumer behavior is introduced, examples supporting
the claim are detailed, and experiments confirming the claim are discussed.

C. Adebate about an economic theory is outlined, two opposing views on the debate are
explained in more detail, and research supporting one of those views is recounted.

. A negative impact of a common business practice is presented, two stories are used
as an illustration, and research suggesting improvements is summarized.

Question Difficulty: Easy



E As used in line 10, "expected” most nearly means

View Answer -~

A anticipated.
B. demanded.

C. hoped.

D. admitted.

Question Difficulty: Easy



The third paragraph (lines 20-31) primarily serves to

View Answer -~

A. outline the steps in a large field study.

B. offer another researcher’s interpretation of the team’s data.

C. introduce a challenge the researchers faced.

0. summarize the findings of a series of experiments.

Question Difficulty: Easy



Which choice provides the best evidence for the idea that consumers’
promotion of a small company may extend beyond shopping at its stores?

14

View Answer -~

A_ lines 29-31 ("This . . . reviews")

B. lines 33-37 ("Upon . . . competition™)

C. lines 37-41 ("Shoppers . . . business™)

D lines 41-45 ("The small . . . environment”)

Question Difficulty: Easy



As used in line 45, "environment” most nearly means

View Answer -~

A circumstances.
B. locale.
C. scenery.

[ resources.

Question Difficulty: Easy



The studies in the passage suggest that if customers of a large chain
bookstore were given information focusing on the store’s small competitors, a
likely result is that the large store would

16

View Answer -
A. recelve more positive reviews from s customers.
B. gain customers who perceive it as offering more choices than smaller shops.
C. benefit from people’s perception that its competition is now even greater.

D. lose customers who would now see it as a competitor of the smaller shops.

Question Difficulty: Easy



Which choice provides the best evidence for the answer to the previous
question?

17

View Answer -~

A lines 12-14 ("But consumers . . . location”)

B. lines 46-52 ("Analyzing . . . compefition version™)

C. lines 60-64 ("In subsequent . . . brand”)

D. lines 64-68 ("In one . . . competitors™)

Question Difficulty: Medium



Which approach for increasing the likelihood of consumers making a purchase
in a small store is best supported by figure 17

View Answer -~

A_ If the small store is currently advertising its small competitors, it should provide no
information about its competitors instead.

B. If the small store is currently providing no information about its competitors, it should
provide information about its small competitors instead.

C. If the small store is currently providing information about its large competitors, it
should provide information about its small competitors instead.

0. If the small store is currently providing information about its large competitors, it
should provide no information about its competitors instead.

Question Difficulty: Medium



According to figure 2, the average dollar value of purchases in a small
bookstore that mentioned small competitors in its advertisement was between

19

View Answer -

A_ b and 10 dollars.
B. 10 and 15 dollars.
C. 15 and 20 dollars.

D. 20 and 25 dollars.

Question Difficulty: Easy



Which statement is best supported by information in figures 1 and 27

View Answer ~

A, While customers were more likely to make a purchase at a small store whose advertisement
highlighted a large competitor, they tended to spend less than they would have if the
advertisement had provided no information about competitors.

B. Advertising mentioning competitors of any size tended to result in a small store's customers
making more purchases than if the store's advertising had provided no information about
competitors, but the dollar value of those purchases was lower on average.

C. Advertising mentioning a large competitor tended to result in more customers making purchases
in a small store and in a higher average dollar value for purchases than if the store's advertising
had provided no information about competitors.

. While customers were less likely to make a purchase at a small store whose advertisement
highlighted a small competitor than if it had highlighted large competitors, the decrease in the
number of purchases was offset by the increase in the average dollar amount of purchases.

Question Difficulty: Easy
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As used In line 16, "positive” most nearly means

View Answer -

A. emphatic.
B. specific.
C. reliable.

D. favorahble.

Question Difficulty: Easy



E According to Passage 1, counting wild tigers is difficult because tigers

View Answer -

A. move extremely quickly from one location to another.

B. reside in environmenis that are relatively inaccessible to humans.

C. bear a superficial resemblance to other related species.

D). exhibit behavior that is potentially threatening to humans.

Question Difficulty: Easy



Based on Passage 1, what is one factor that may have contributed to the ris
in the reported global tiger population?

View Answer -~

A. Photographic technology has improved in its ability to detect animals in remote

environments.

B. Recent measurement technigues used to count animals are more accurate than

those used in the past.

C. Scientists’ understanding of the typical growth rate for populations of endangered
species has improved.

D. Wildlife conservation strategies are more uniform from country to country than the
once were.

Question Difficulty: Medium



Which choice from Passage 1 provides the best evidence for the answer to the
previous guestion?

24

View Answer -~

A lines 10-13 ("lna . . . 2010%)

B. lines 18-20 ("it's . . . hopeful”)

C. lines 30-31 ("The increased . . . methods™)

D. lines 34-37 ("Though . . . loss")

Question Difficulty: Medium



According to Passage 2, the wild tiger population estimate offered by the
WWE and the Global Tiger Forum may be flawed as a result of which factor?

View Answer -
A. Generalization from a selection of evidence that is likely incomplete
B. Limitation to data that are more relevant in certain countries than in others
C. Reliance on a new experimental tool that has not been thoroughly tested in the field

D. Assumption of stability in population growth over time that is not supported by data

Question Difficulty: Hard



H As used in line 62, "realize” most nearly means

View Answer -
A. comprehend.
B. obtain.
C. perfect.

D. create.

Question Difficulty: Medium



Which choice best states the relationship between the two passages?

View Answer -~

A. Passage 2 compares and critiques the conservation solutions recommended in
Passage 1.

B. Passage 2 questions the professional credibility of the scientists profiled in Passage 1.
C. Passage £ suggests several applications of the conclusions reached in Passage 1.

. Passage £ challenges the reliability of research results discussed in Passage 1.

Question Difficulty: Medium



It can reasonably be inferred from the passages that their authors would both
agree that wild tiger population sizes are

View Answer -
A. recovering more fully in certain countries than in others.
B. beginning to return to the levels recorded in 2010.
C. responding predictably to aggressive conservation attempts.

D. declining steadily despite continual human intervention.

Question Difficulty: Easy



The author of Passage 2 would most likely respond to the conclusions in the
first paragraph of Passage 1 by asserting that such claims

View Answer -~

A. only apply to certain subspecies of tigers and are therefore inconclusive.

B. will offer incentive for countries and regions to invest further in wildlife preservation
programs.

C. prove that rigorous efforts to protect endangered species result in quick recovery of
populations.

). may lead people to believe that tigers are recovering when in fact they continue to
require vigilant protection.

Question Difficulty: Medium



Which choice from Passage 2 provides the best evidence for the answer to the
previous guestion?

View Answer -~

A lines 653-56 ("ln April . . . individuals™)

B. lines 60-63 ("And their . . . technigues”)

C. lines 71-75 ("Speculative . . . populations™)

D. lines 79-82 ("Only . . . efforts”)

Question Difficulty: Medium
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Z DV D SROMFEDCDRMYIMNV

, WKLQN , FDQQRW RSHQ P\ DGGUHVV
E\ VWDWLQJ P\ H[SHULHQFH LQ P\ OR
UHIRUP PRYHPHQW

W ZDV GXULQJ WKH JUHDW UDLOURD
EHFDPH LQWHUHVWHG LQ ZKDW LV N
AXHVWLRQ ~ , WKHQ WKRXJKW DV PD
HDUQHVW VLQFHUH SHRSOH WKLQN
RSHUDWLQJ LQ KXVPORZQRFVHWRYHUQF
EH PDGH DQ LQVWUXPHQW LQ WKH KI
DOOHYLDWH WIQHNU %¥XW D FORVHU V
KLVWRU\ DQG WHQGHQF\ Rl JRYHUQP
WKLV ZDV D PLVWDNH

, FDPH WR XQGHUVWDQG KRZ RUJDQL
WKHLU FRQFHQWUDWHG SRZHU WR U
HYHU UHDG\ PHDQV RI VLOHQFLQJ Wt
UDLVHG LQ YLJRURXV SURWHVW DJDI
VFKHPLQJZIKIR DOZD\V GLG DOZD\V ZI
PXVW UXOH LQ WKH FRXQFLOV RI QD'
UHFRJQL]JHG DV WKH RQO\ PHDmMMW R IR
WKH SHRSOH

, FDPH WR XQGHUVWDQG WKDW VXFK FRQF
EH DOZD\V ZLHOGHG LQ WKH LQWHUHVW RI
H[SHQVH RI WKRYRDU@PHQW LQ LWV ODVW C
WKLV SRZHU UHGXFHG WR D VFLHQFH *RYF
OHDG WKH\ IROORZ SURJUHVV :KHQ WKH ¢
VFDROG FDQ QR ORQJHU VLOHQFH WKH YRL
PLQRUSWRJUHVV PRYHV RQ D VWHS EXW QI

, ZLOO VWDWH WKLV FRQWHQWLRQ LQ DQR
FORVH VWXG\ WKDW UMQFE &K DR DLUU SUR
D SROLWLFOXONSPDIURRZKW PDNH WR WKH SH
RUGHU WR VHFXUH WKHLU FRQILGHQFH ZK
HVWDEOLVKHG LQ IPRQW RR O/ RF WHKAH\ DW K D W
ZHUH DIWHU DOO EXW KXPDQ ZLWK DOO WK
WKH SROPARIFLWEHVH DUH )LUVW WR UHP
DW DOO KD]DUGV LIWXHAD LVOIGR WH GORIDAEA\Q J
HVVHQWLDOO\ WKH VDPH YLHZV DV WKH DC
NHSW LQ FRQWURO 6HFRQG LQWUWEHU WR
QHFHVVDU\ WR EXLOG XS D SRZHUIXO PDFK
HQRXJK WR FUXVK DOO RSSRVLWLRQ DQG \
PXUPXUV RI GLVFRQWHQW RU WKH SDUW\
VPDVKHG DQG WKH SDUW\ WKHUHE\ ORVH F

:KHQ , FDPH WR UHDOL]H WKH IDXOWV IDL
DVSLUDWLRQV DQG DPELWLRQV RI IDOOLEC
LW ZRXOG QRW EH WKH VDIHVW QRWEHVW
ZKROH WR HQWUXVW WKH PDIQDVHPIHQRN DRO
WKHLU PDQLIROG GHYLDWLRQV DQG UDPLILI
ILQLWH PDQ WR EH PDQDJHG E\ WKH SDUW



WR FRPH LOQWRQSREKHUHIRUH ZDV Wk
QRU GLG LW WKHQ QRU GRHV LW QR
GLMUHQFH WR PH ZKDW D SDUW\ RXW
LW GRHV QRW WHQG WR DOOD\ PRHBI
HQWUHQFKHG DQG VHFXUHO\ VHDWH!
FUXVK RSSRVLWLRQ DQG VLOHQFH V
DQG WKXV UHWDUG WKH RQZDUG VWI

0\ PLQG LV DSSDOOHG DW WKH WKRX
KDYLQJ FRQWURO RI DOO WKH GHWD
VXP WRWDO RAKRXOW RLYLWW IRU DQ LQ"
SDUW\ LQ SRZHU VKDOO KDYH DOO D
RI ERRNV WKDW VKDOO EH XVHG LQ F
XQLYHUVLWLHV ILFYBO@PHRIWRQJ S
FLUFXODWLQJ RXU OLWHUDWXUH KL
WR VD\ QRWKLQJ Rl WKH WKRXVDQG
WKDW D SHRSOH HQJDJH LQ LQ D FL

7R P\ PLQG WKH VWUXJJOH IRU OLEH
IHZ VWHSV ZH KDYH JDLQHG KDYH EH
VDFULILFH IRU WKH JUHDW PDVV RI
WZHQWLHWK FHQWXU\ WR FRQVHQW
SDUW\ WKH PDQDJHPHQW RI RXUDVURE
)RU DOO ZKR DUH DW DOO IDPLOLDU
ZLOO DEXVH SRZHU ZKHQ WKH\ SRVV
RWKHU UHDVRQV , DIWEG OBRWHWKCU'
VHQWLPHQW WXUQHG IURP D VLQFH!
6RFLDOLVW WR WKH QRQ SROLWLFD
BRFLDOLVP2$QDUFKLVP 2EHFDXVH LQ

EHOLHYH , FDQ ILQG WKH SURSHU FRQGLW|
GHYHORSPHQW RI WKH LQGLYKGKK ®DX@LW)\
QHYHU EH WKH FDVH XQGHU JRYHUQPHQW

7KH TXHVWLRQ RI KRZ WR S U HARHIUNHHUW K H
LQ DQ LQGXVWULDO VRFLHW\

2QH ZKR HVSRXVHV D EHOLHI WKDW WKH S
GLVWULEXWLRQ RI JRRGV VKRXOG EH FRQV
JRYHUQPHQW

$ EHOLHI WKDW RSSRVHV DQ\ IRUP RI DXW



H In the passage, Parsons mainly presents herself as someone who is

View Answer -~

A. rational in her analysis of political history.

B. resentful over a recent turn of political eventis.

C. conflicted about the future role of political parties.

D. sympathetic to more than one political perspective.

Question Difficulty: Medium



H A primary purpose of Parsons’s speech is to

View Answer ~
A. discuss a political philosophy that is starting to lose favor.

B. outline a new approach to meeting the needs of oppressed groups.

C. provide a rationale for adopting a different ideoclogy.

D). bring to light inconsistencies within the current political system.

Question Difficulty: Hard



H In the passage, Parsons indicates that she once believed that

View Answer -~

A. majority rule eliminates the need for individual activism.

B. mohilization of the few benefits the majority.

C. progress occurs when everyone works together toward a common goal.

D. government can be used to make changes that citizens hope for.

Question Difficulty: Medium



It can reasonably be inferred from the passage that Parsons thinks posiiive
social change will take place only when

34

View Answer ~

A. masses of people are well versed in political history.

B. political parties become committed to reform.

C. fewer political parties are competing for people’s votes.

[, vocal individuals compel governments to address their concerns.

Question Difficulty: Medium



Which choice provides the best evidence for the answer to the previous
question?

View Answer -~

A lines 21-23 ("l came . . . many")

B. lines 25-27 ("When . . . then")

C. lines 28-34 ("l learned . . . politician™)

D. lines 65-69 ("To my . . . affairs”)

Question Difficulty: Medium



H As used in line 29, "fair” most nearly means

View Answer -~

A_ honest.
B. pure.
C. appealing.

D. adequate.

Question Difficulty: Medium



Which argument does Parsons use to support her claim about the extent to
which political parties can be trusted by voters?

37

View Answer -~

A_ Political parties are inherently corrupt because human nature is too easily corrupted
by power.

B. Parties often consolidate their power by making deals with opposing parties.
C. Political parties always sacrifice their own ideals for pragmatic actions.

[r. Parties typically advance positions that are at odds with the beliefs of many of their
members.

Question Difficulty: Medium



Based on the passage, Parsons would most likely predict that a political
system that includes competing parties will consistently

View Answer ~

A. lead to the suppression of views deemed unfavorable.
B. fracture into an increasing number of warring parties.

C. impede economic growth and therefore hinder progress.

[). foster the development of an overly scientific approach to politics.

Question Difficulty: Medium



Which choice provides the best evidence for the answer to the previous
question?

View Answer -~

A lines 23-24 ("Government . . . science”)

B. lines 37-41 ("Second . . . control™)

C. lines 42-51 ("When . . . promise”)

D. lines 58-64 ("Think . . . society”)

Question Difficulty: Medium



According to the passage, Parsons’s support for anarchism is based on the
idea that anarchism

View Answer ~
A distributes wealth and property more equally among the population.
B. is indifferent to the social status of its adherents.
C. creates a situation that allows individuals to flourish.

[, allows people to create an organizational structure whose leaders will champion the
rights of the oppressed.

Question Difficulty: Medium



As used in line 75, “proper” most nearly means

View Answer -~

A. ordinary.
B. decent.
C. conventional.

D. suitable.

Question Difficulty: Easy



4XHVWLRQV DUH EDVHG RQ WKH
DQG VXSSOHPHQWDU\ PDWHULDO

7KLV SDWDJIH IV DEDSWG IURP 6 DEIQH 7HEELFK DQG, WP J DUG 7HVRKNH
3 K ' R: RRGSHANHU) IQFKHV 8 VH7RRY'” « E\ &DP EUGIH
8 QYHYAW 3 UHAW : RRGSHANHUILGRKHV XVH BV \R FDWRK LOVHPBUA
GHHS Z WWIQWHHY

,Q DQ H[SHULPHQWDO VWXG\ ZH LQYt
WRRO XVH LQ ZRRGSHFNHU ILQFKHV
VHHPHG SODXVLEOH VLQFH SUHYLRX
VHYHUDO IRUPV RI WRRO XVH LQ SUL
OHDUQHQWRRN ZKROH EURRGV IURP \
,VODQBWSOLW HDFK EURRG LQWR W
FKLEFNV ZHUH UHDUHG ZLWK D WRRO
KDOl ZHUH UHDUHG ZLWK D QRQRWRR
WKDW \RXQJ ZRRGSHFNHU ILQFKHV W
RSSRUWXQLW\ WR ZDWFK WRRO XVH
VLPLODU DSWLWXGH DQG UHDFKHG C
WKDW PDUNHG WKH DSSHDUDQFH RI
EHKDYLRU DW D VLPLODU DJH DV WK
WKH FKDQFH WR REVHUYH WRRO XVH
ILQFKHWV FRQFOXGHG WKDW LQ FRQW
VRFLDO OHDUQLQJ LV QRW QHFHVVD
EHKDYLRU LQ ZRRGSHFNHU ILQFKHV
GHYHORSPHQWDO SURFHVV VHHPV W
RQ JHQHWLFDOO\ IL[HG FRPSRHQW\
&DOHGRQLDQ FURZV DOVR DSSHDU W

SUHGLVSRVLWLRQ IRU WRRO XVH DV GHPR
ILQGLQJ WKDW WKH\ GHYHORS EDVLF XVH I
WRRO XVLQJ PRGHQ RHRGWYBVWDWR RXU VYV
WRRO XVLQJ GHPRQVWUDWRU D KXPDQ LQ
&DOHGRQLDQ FURZV VWLPXODWHG IDVWH L
XVH LQ MXYHQLOH 1HZ &DOHGRQLDQ FURZ\
REVHUYDWLRQV DOVR VKRZ WKDW 1HZ &DO
SDUHQWROGDMKH GHYHORSPHQW RI ZLGH V
PDQXIDFWXUH DQG XVH LQ MXYHQLOHV IRU
-XYHQLOHV VWD\ FORVH WR WKHLU SDUHQ\
ZLWK GLVFDUGHGHWRBABOM[SRVXUH WR WKLYV
WRRO PLJKW KHOS MXYHQLOHV WR IRUP D
IXQFWLRQDO WRRO GHVLJQ

,QIRUPDWLRQ DERXW ZRWRRSSIHFN NUVM B F KR
VKHG VRPH OLJKW RQ WKH UHDVRQV IRU W
SUHGHWHUPLQDWLRQ RI WRRO XVH LQ WKL
WKLQJ LQ FRQWUDVW WR VRFLDOO\ OLYLQ
ILQFKHV DUH VROLWDU\ DQG WKXV SDUHQV
RQO\ DYDLODEOH WRRO XVLQJ PRGHOV ,Q
UHOLDQFH RQ VRFLDO WUDQVPLWLRD IUR|
GXULQJ DQ DSSDUHQWO\ YHU\ VKRUW SHUL
ZRXOG EH D KLJKO\ UiKHUHH Q& HDYIRWH O LKR
HQFRXQWHULQJ LPSRUWDQW VRFLDO LQIRL
VHOHFWLRQ IRU D GHYHORSPHQW SURFHV\V
IL[HG FRPSRQHQWYV FRXOG EH DGYDQWDJH
JLYHQ WKDW WRRO XVH SURYLGHV DQ LPSF
ZRRGSHFNHUGLRWKIQG VHHPV FUXFLDO WF
GXULQJ WKH GU\ VHDVRUL GQ=REH LVODQGYV



$OWKRXJK RXU H[SHULPHQW VKRZHG
WRRO XVH LV EDVHG RQ D YHU\ VSHF
SUHGLVSRVLWLRQ ZH ZHUH DEOH WF
QRQ VRFLDO LQGLYLGXDO OHDUQLQ
GXULQJ WKH RQWRJHQ\ >GHYHORWPH
OLIHWLPH@ RI WRRO XVH LQINVHIHQFR)
WKLV EHKNDYHRWGLYLGXDOV GHYHOR
WHFKQLTXHV WKDW GHYLDWHG IURP
ELUGV LQ WKH ZLOG PRVW OLNHO\ E
FUHYLAHVYKGIITURP QDWXUDO FUHMMF
VRPH SRLQW GXULDPKKRI WWKXEH EL!
WKHLU WRRO LQWR WKH DUWLILFLDO
XSZDUG PRWLRQ RI WKHLU EHDN WK
ZLWKLQ UHDFK DW WKH $IWMRHQUVLRIL W K
VXFFHVV ZLWK WKLV WHFKQLTXH WK
LQFUHDVHG WKHLU XWVKHMHVEKQG RN
REVHUYDWLRQV RQ OHDUQLQJ LQ WR
ILQFKHY KDYH DOWHUHG RXU FRQFH?
GHYHORSNVRQWRJIHQHWLF XQIROGLQJ
EHKDYLRU LV GHWHUPLQHG E\ D YHU
FRPSRQHQW EXW LV HQKDQFHG WKU

/DEOH
7RRO 8VHRR\GGCSHFNHU )LQFKHV 5DLVH!

ZLWKMRRW 8VLQJ ORGHOV
7TRRO XVH EHKDYLRU

OHDQ LQVWDQFHV RI EHKDYLRU SHU REVHU
HISHULPHQWDO FRQGLWLRQ

5DLVHG ZLY 5DLVHG Z
WRRO XVLQWRRO XVLC(

SLFNLQJ XS

ODQLSXODV
7ZLJ

8VLQ@ZLJ DV
7RRO

6 XFFHVV ZI
WRRO

7KHUH LV QR VUBQHQFEQW GHVXOWY EHW?Z
WZR JURXSV IRU DQ\ RI WKH IRXU WRRO XV

/DEOH

(HHFW RI 6XFFHVV ZLWK TBIGKDXAXHYRQLQJ
JUHTXHQF\ RI THFKQLDQXH 8RRGESHFNHU
JLQFKHYV

%HIRUH ILUVW VXFFHVV DW DFTXLULQJ SUF
OHGLDQ IUHTXHQF\ Rl SUH\ OHYHULQJ DWW
REVHUYDWLRQ

5DQJH Rl SUH\ OHYHULQJ DWWHPSWV SHU I



+

$IWHU ILUVW VXFFHVV DW DFTXLULQ.
OHGLDQ IUHTXHQF\ Rl SUH\ OHYHULQ
REVHUYDWLRQ

5DQJH RI SUH\ OHYHULQJ DWWHPSWYV
+

6RXUFH 'DWD IUREBDHEL@GM DO 3'R
: RRGSHFNHU$REDFRHRO 8VH E\ 6RFLD
/IHDUQLQJ" «7KHEBR\DO 6RFLHW\



H The main purpose of the passage is to

View Answer ~
A. contrast the tool-using behavior of wild and captive-raised woodpecker finches.

B. describe experiments intended to clarify the benefits of tool use for woodpecker
finches.

C. discuss a study of the differences between primates and woodpecker finches with
respect to tool use.

D. present research that explains the development of tool-using behavior in woodpecker
finches.

Question Difficulty: Medium



It can reasonably be inferred from the passage that the design of the
researchers’ experiment helped to minimize the possibility that

43

View Answer

A. there were important differences between the two groups of chicks other than the
model with which the groups were reared.

B. responses of any individual chick to the model were influenced by the responses of
other chicks in the same group.

C. acquisition of tool-using behawvior by chicks in both groups was influenced by the
particular potential tools available.

0. identifying when chicks reached different developmental stages of tool-using behavior
depended on human evaluations of chicks’ actions.

Question Difficulty: Hard



Which choice provides the best evidence for the answer to the previous
guestion?

View Answer -
A. ferror] ("ln an . . . socially™)
B. [error] ("This . . _ learning”)
C. ferror] ("We took . . . model”)

D. [error] ("We concluded . . . finches”)

Question Difficulty: Medium



As used in [error] and lines 43-44, “fixed” most nearly means

View Answer

A. repaired.
B. determined.

C. attached.

D). prepared.

Question Difficulty: Medium





















































































































































































































































































































































































































